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Recent trend on the examination for new high-class government officers and quality
of help for the students by the faculty members

Taro Urase

Abstract; In order to become high-class officers of Japanese government, students must pass an
examination with the exception of doctoral program students applying for research officers.
General skill other than specialized knowledge is made much of in the examination. Recent
change in the system of selection of new government officers includes abolishment of civil
engineering category and establishment of science and engineering category in the examination.
This report summarizes the contents of the examination including both first stage selection and
second stage selection in 2001. It is also discussed what kind of help can be given to the
students by the faculty members at the department of civil engineering, Tokyo Institute of

Technology.
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